Paper-Maker Paper Maker 10

Directions (1-5): & T SM®RI &1 AT &FYAH Do 3R
frafafad uet & I fa

U [T I8 § O HfK Th PR 9 & ORI 3R 96 7,
forgest aRkfYy 637 9.4 g1 it fad &% @1 iR 3@ g1 d Udh-
TR Y TP [iYd @&t R a3 &, S I1d &1 HHNT OSI g1 A, E &
i ¥ 91 W R 96d1 81 A 3R J & A HId U AT Sl
gl K, M I I A1 RMF W dodl 81 M 3R F & A & Afdd
JBd €I G, H & T ¥ g VM W 9&dT gl H, A & Hdwed
S gl 81 H 3R D YT C 3R D & HY hdd U HAfdd 9adl
gl H 3R D & A% 989. 1. 3t g g1 B 3R | & A 10547, B}
A g1 F 3R E, ST B & 3l aidfl 3R 981 §, & U Had T
fad d9ad1 3IM 3R B & Aeg 7791, &1 g3 BIL 3R K & A
o g3l 2291 31 e g

Q1. Fefafed # ¥ ®F 91 fdwed | 3R G & &9 B g3l B aidl
87

(a) 147

b) 172
c) 119
d) 133

(
(
(
(e) 155
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Q2. Fufeed & @ &F | & Adedn TSk g7
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Q3. Fufifea A T o M & I ¥ 6 WM W 934 dId Afdd &
T ¥ Y WM R ST 87

(a) C

(b) K

(c) D

(d) L

(e) STH A DIg T8l
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Q4.Fafaied & ¥ HIF-91 f[ddhed H 3R L & &I B g3l Bl a=ITdl
g7

(a) 98

(b) 112
(c) 4

(d )108
(e) 119
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Q5. Fafafad # ¥ IR e Tg | Y&fid €, J1d B’ BT T
Uh 39 TE I 9efd 81 87

(a)BI

(b) K

(c) A

(d) B

(e)C E
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Direction (6-10): T Xead N TT ZaTRIT T Bl oid Jecl 3
TS/ &1 U §79C Giaki &1 ol & ) 38 Hd® a0 H T [15

775 BT SRT NG §T 3% HGIYT Bl &/ [HEln@d 37ge
3V GT TR BT TF FGTeRT &




g79c- 24 qesfplau 19 23 dfrs 33 xtul.
gVl 1: 100 fhtu 24 gesfplau 23 33 xtul.
YUl 25 rnzf 100 fhtu 24 gesf 33 xtul.
gVl ll: 36 svuh 25 rnzf 100 fhtu 33 xtul.
YU 1V: 36 zvfin 36 svuh 25 rnzf 100 fhtu.

714 1T 77T 379 & STE/N U3 [7GIad g4 & v &iford - -
g79c- 28 rufs 11 mpke 47 luae vibe 36.

Q6. FRUN F FIU BN T AT &I BT GBI 3 X ||| & qrd R d
e @I BT FBT & e [T ¥ SN

(a) 24

(b) 2
(c) 2
(d) 2
(

e)é’qﬁ#‘?ﬁg%’?
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Q7. IRT || & T SR T Grae] §&77 3R TR0 | & 279 8K G dad?
TG & Jig & v HT Fif BT 81
(a) 324
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Q8. 13T 74 37gC HT FIRTRVIB]7 &I NI

(a) RO 1II- 81 tfhu 121 ormv 4 nfzv vibe 36.
(b) =RUT111- 100 tfhu 121 ormv 9 nfzv vibe 36.
(c) TROT111- 100 tfhu 144 ormv 4 nfzv vibe 36.
(d) =RUT11I- 100 tfhu 121 ormv 4 nfzv vibe 36.
(

e) STH A PIs g

L1Difficulty 2
QTags Input-Output

Q9. /7glci&@T &' T i7 F7 Tsqy &7 a0 ||| T §1F SR G 839 &
FIU G TG R TR e

(a) tfhu

(b) 121
(c) rufs
(d) nfzv



(e) TTH A BIX Tl
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Q10. R & FF B G Tg<f G&IT 3N T IV & q7d BR T god]
&7 & I BT T F7 §0

(a) 49

(b) 6

(c) 8

(d) 121
(

e) STH A PIs g
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Direction (11-14): 3l dfgqai & 13 g 3R frd v dfeq &
Wﬁ%ﬂmmmﬁﬁw

TRUML: IS Th fAH T & 91 JH AT § I Gl I3 Bl
INT giumH gRT|

TRU12: gieUGaHIATh aTGyUiars (1 G| EISERY
A BRI RRATR YT 3R GRUMH g




WU3: IR THIASHACHIINAe  (AfbIquidiele)
eI ST B IANTIRUTHE R |
T4 YR UG IAIBH G [QAYHERETR (dfpTquiaiiels) dafkom
%RgﬂaﬁzﬁTﬂpniﬁqésaﬂuﬂn|

U TS ST THIBIRdIGE] T8 gRI
q@?ﬁm &1 fTauTS= afkomd ghm|

Q11. GHIUfRITI b IR UM B AN R [T ?

6 3 4
2 9 I
(a) 22
(b) 11
(c) 4
(d) 15
(e) SWIGTHTD 58]
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Q12 UgdUfad IR G UG URUTHG A S dRIATAH oTT |
14 49 26
17 22 13
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Q13.af¢ 3 dfeaal & URumy &1 oM 246 § @ X &1 A1 0
PIfora?

04 18 1
17 16 X
(a) 10
(b) 1
(c) 9
(d) 6
() SRIGaH DI 10
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Q14. &I UfkTdl & URUMH T M FA1d HifIE?
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104 37
18 3

015. If¢ Usg ‘SCRABBLE o gl TRl &1 RIS guiaTar &
39R 9P 3/dd! aul gRT Ul foram Srar ® 3R gt o

B IRISI JUIAHTAT &

3R S Jaddi 9uf & 1Y Ufawiiud faan

oTaT & 3R o Tt auif &1 quiigeey # orafyd foear Srar g
3ol gufarar oaer H 96 ¥ AR avf 3R e q <R 9uf & A

fore= auf g7

(a) 11

)

) 1

)
e) @ﬁ@ﬁéqﬁ
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(c
(d
(



Solutions (1-5):

Sol.

K sits 4" to the left of M. Two person sits between M and F.
Only one person sits between F and E, who sits on the

immediate left B. The distance between M and B is 77cm.

A sits 4" to the right of E. Only one person sits between A and
J. G sits second to the left of H. H is not the immediate
neighbour of A. Only one person sits between H and D and
between C and D. Distance between H and D is 98cm.
Distance between B and | is 105cm. Distance between L and K

is not more than 22cm.



S1.Ans(d)
S2.Ans(a)
S3.Ans(d)
S4.Ans(b)
S5.Ans(c)

Solutions (6-10):

Sol. In the given Input-Output one word and one number is
being arranged simultaneously in each step.

For Words- In first step- The word which comes first according
to alphabetical series will be arranged from left end such that
the consonants are replaced by its second succeeding letter
and all the vowels are replaced with its opposite letter
according to the English alphabet. Then the next word
according to alphabetical order will be arranged in second step

from the left end and so on--+------ .



For numbers- All the numbers are arranged with the one word
simultaneously in each step, such that first the prime numbers
are arranged in ascending order and then non-prime numbers
will be arranged in ascending order. Each of the number will be
arranged by following logic as number will be replaced with the
square of the addition of the digits of that number after

arrangement.

Input- 28 rufs 11 mpke 47 luae vibe 36.
Step I: 4 nfzv 28 rufsmpke 47 vibe 36.
Step Il: 121 ormv 4 nfzv 28 rufs vibe 36.
Step Ill: 100 tfhu 121 ormv 4 nfzv vibe 36.
Step IV: 81 xrdv 100 tfthu 121 ormv 4 nfzv.

S6.Ans.(a
S7.Ans.(c
S8.Ans.(d
S9.Ans.(b
S10.Ans.(b)

)
)
)
)

Solutions (11-14):
S11. Ans.(d)
Sol.

In row-1



Even number is followed by an odd number so =6 *3 =18
18 4

Even number is followed by an even numberso =18 + 4 = 14

In row-2

Even number is followed by a perfect squareso=9-2=7
7T

Odd number is followed by an odd numberso =7/7 =1

So, the sum of resultant of two rows =14 + 1 =15

S12. Ans.(a)
Sol.
In row-1
even number is followed by an perfect square number so=49-
14 = 35
35 26
Odd number is followed by an even number so = 35+26 = 61
In row-2
Odd number is followed by an even number so = 17+22 = 39
39 13
Odd number is followed by another odd number s0o=39/13= 3

So, the difference of the resultant of the both rows = 61-3 = 58

S13. Ans.(b)



Sol.
In row-1
Even number is followed by another even number so=64+18=
82
82 1

Even number is followed by an odd number so=82*1 = 82

If the multiplication of resultant of two rows is 246 then

resultant of row-2 must be 3

In row-2

Odd number is followed by an even number so=17+16= 33
33 X

If resultant is 3 therefore,

Odd number is followed by another odd number so=33/X= 3

So, the value of ‘X’ must be =11

S14. Ans.(e)

Sol.

In row-1

Odd number is followed by even number so=81+104= 185
186 37

odd number is followed by an odd number so=185/37=5

In row-2

Even number is followed by an even number so = 56+18= 74



74 3
Even number is followed by an odd number so = 74*3= 222
So the multiplication of resultant of the two rows = 222*5=
1110

S15.Ans(c)

Sol.
SCRABBLE
RBQBAAKF
AABBF KQR

There are total 14 letters between ‘B’ and ‘Q’.



